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107a (1 mwn) 2 108a (377 7mw)

Note: 1 mwn deals with commitment to bring an 751y, an 71519 must be male, hence the limited range of choices. r mwn deals with a 772 to
bring amnor op5w — either of which may be male or female; hence the extended range of choices.
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I ymwn: default obligations of an unspecified commitment to an n%:
a  If:he said n% "y »in-brings a lamb
i y7anT brings a bird (1 or mv-ja)
1 Note: they don’t fundamentally disagree, just reflect regional values
2 np772 if he committed to bring an n%w for 1 9o — bring a lamb (only thing brought for 1 y5v)
(a) But if: he defined a gift and doesn’t remember — brings everything that could be brought for 1 5o
b If he said that he committed from the herd, but forgot what he specified — brings a bull and a calf
i Challenge: he should bring a bull in any case; it’s either correct, or 171 ®2m 19p (see below)
ii  Answer: follows »27, who says that if he committed to small and brought large — x> X5
1 Challenge: »21 is represented here and at the end of n nwn — but 1121 in the middle!
(a) Answer: indeed — R0 explains that our case is subject to that dispute — only »21 would obligate both
¢ If:hesaid that committed from nnna but doesn’t remember what - brings bull, calf, ram, goat, lamb, kid
d  If: he said that he committed but doesn’t remember what — adds 11 and Y1 to the list above
II 1 mwn: default obligations of an unspecified commitment to wn5w/nTIN:
a  If: he said nmin "9y »n or ©nYW *9Y »n — brings a lamb
b If he said that he committed from the herd, but forgot what he specified — brings a bull, a cow, a calf and a heifer
¢ If:he committed from nnna, doesn’t remember what — adds ram, ewe, kid (M&F), billy-goat, nanny-goat, lamb (M&F)
I n mwn: finanical obligations associated with various commitments
a  If: he committed to bring a bull for an n%y, must spend 1 qv3 nan (100 727) including the n>v)
If: he committed to bring a calf for an N9, must spend 5 oy9o (20 117) including the n»>01
If: he committed to bring a ram, must spend 2 »’»Yo including n’>v)
If: he committed to bring a lamb, must spend 1 v including n»01
However: if he committed to any of these and explicated these respective amounts, expends that much on animal alone
If; he committed to nina M and he brought 2 for a nin — or even 2, each of which was worth just less than a nin — r X5
If: he committed to bring a black one and brought white — or vice-versa — X%’ 8Y
If: he committed to bring a large one and brought a small one — x¥> 8>
If: he committed to bring a small one and brought a large one:
i opom he fulfills his obligation
ii 227 he doesn’t fulfill his obligation
IV Side-door ®m0 — n:1 09pw identifies 6 boxes for nam — corresponding to:
a  /prr 6 2R 'n1a of mand — to prevent fighting over pelts of mam (others: each is given on their day — no concern)
b v /7 there are lots of mam, they need many boxes, to keep coins from rusting (others: no concern of rust)
¢ »pyr bulls, calves, rams, lambs, kids, goats, per »a7, that if he committed to a small one, cannot bring large
i Others: don’t want to identify miwn ono as a sole opinion
~79 72 bull, ram, lamb, goat, surplus and nyn (11a%p payment for w"nnn) (others: all are surplus, and nyn goes to naT)
e  Snipw: surplus of nkon, of DWR, of 11 DWR, of YMrN DWYR, of RVIN NN and of ¥ 'nyan
f  awwix ’1 surplus of nron, of DWR, of 111 DWR, of YN DVR, of D1p andof RVIN NN
i Snwwip already mentioned among 1t 7 boxes, to which 8™ accedes
1 ~77: one for np themselves, other for surplus of nnp
ii ~ &”7 surplus of 3”3 'noan are left to rot, per X2 - 2p7> AN IMN ,NATI NNIN IMN
1 Meaning: surplus of R0 nnin is a Na1y; surplus of 3”2 'n»an are left to rot
2 737(challenges this interpretation): surplus of 3”2 nmn is also naT — but surplus of N1 !mnY are left to rot
(a) Note: this is a dispute 8"/73n1 ", 8™ maintaining that surplus of 3”3 'n’an must rot
3 Challenge: list of surpluses which are 10 or nam, including naxn n*Pwy
(a) We assume: it refers to 3”3 'n>an (correction: refers to WY of RVIN NNIN)
4 Support (for 2377 from »7217): v. 1 indicates that only a nnin without n1a5 is a nkon and becomes a nam
(a) Implication: 3”3 >nan are not NRYN and require N1 - their surplus is not nam (2 2p7)
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